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H/w Q. Which of the following is not an example of an allotrope used?
METTRIT | © ahiF-91 Teh YR (TAISIT) hT ITANT TohIT 3ETaL0T T2l 87

(a) Diamond/ 81T
(b) Graphite/IHTEE
(c) Steel/&TA

(d) Ozone/3TSTH
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* I T frzrerg § 7 foh 1oy, it I8 A,
fHoheT Te SRR STTfS ATl ol 3o EaT & |
Teh &I dcd 9o (9 &1 | fHear =, d I 39k
IATET(Allotrope) FHEATA gl S e oh HIEY
g0, U%Ee e g SAeSE T (02) T
NI 1 (03) AT dcdl (0) o 3TT%Y 2

® Steel 1s an alloy and not an alloy because it 1s
a mixture of metals like iron, nickel and
chromium. When the same element 1s found 1n
different forms, 1t 1s called allotrope. For
example, allotropes of carbon are diamond,
graphite etc. Oxygen gas (O2) and ozone gas
(O3) are allotropes of oxygen element (O).
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Q.1 Who appoints Chief Election Commissioner of India?
WA o & TS HATTh ohi shi< {+1Ich HLdl 87
S.S.C. AT CHSL (T-I) 7 9T, 2018 (11- refh)

(a) The President of India / W%U@qﬁ
(b) Prime Minister of India/FTR o TeT=H

(c) Chief Justice of India / WTd A&

RIRIBIN]
(d) Home Minister of India/<Rd o e WAl
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o Hfoer™ T WA 15 el ¥ Gel¥a 21 A=ee 324 I8
39S T & Ton AT o7 erefiequr, e ST feeor
fHeter ST o ffed g STfese 324 (2) & FTHN,
Hed o= ST U7 3= A i fh, deei
ferfer o a7efis ted gu Tegdia g sht StTer

® Part 15 of the Constitution deals with 'Election’. Article
324 provides that the superintendence, direction and

control of elections shall be vested in the Election
Commission. According to Article 324 (2), the
appointment of the Chief Election Commissioner and
other commissioners shall be made by the President,
subject to parliamentary law.
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Q.2 What is the minimum age requirement for appointment as a Governor?
TSI o &Y H ek o T ==Haw 31 feral g1 =miew?
S.S.C. #MaTET CHSL (T-I) 7 |, 2018 (11- 9Tel)

(a) 42 years/42 Iy

(b) 35 years / 35 CL}
(c) 25 years / 25 CL|
(d) 26 years / 26 s
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® TTHTHTAT TSIUTA T hIehTel U U-YT § Ui I ahl ST oh
[T i1 21 3T=ea 156 (1) % d8d UsIUTe, AU o
SETEHIT STIHT UG U1 Shidl ol TSTUTS TUHT SEATT ST
<l HIUd & TSIUTSA hl [k TSATd T hT ST 2] TSIUTA
o ®Y H Th o 1T = STawaeh 31 35 a9 2

® Generally, the tenure of the Governor 1s for a period of
five years from the date of assumption of office. Under
Article 156(1), the Governor holds office during the
pleasure of the President. The Governor submits his
resignation to the President. The Governor 1s appointed by
the President. The minimum required age for appointment

as Governor 1s 35 years.
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Q.3 The term of a Governor 1s-
TSIYTA o1 hdhTed fohd Y o7 BIdT 87

S.S.C. AT HTdeh & (T-1) 3 s, 2016 (11- ITeih)

(a)4 Years / 4 Iy
(b) 5 Years/5 a9

(c)6 Years / 6 CL|
(d) 3 Years /3 a9




SSC CHSL 2022-23

Q.4 Who 1s the head of the government of a state in India?
VR H forelt TS Al FEhT T @ i BT @ 2
S.S.C. 3AFaTET CHSL (T-I) 18 1=, 2020 (I11- UTedT)

(a) Governor / TSIYTA
(b) Chief Minister / T&IHAT

(¢) Prime Minister / TIHAT
(d) Speaker of the Assembly /
T AT
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o g { foreft T il Tt 1 ERICRISREIN
=11 ® TSIUT 1 FRIfh 9Ra o aegufa
ST ohl SITdT 21 TSIUTe [ =ee T & 95 &l

\ \ \ (N \ o\
TAT AT FAGEH LA qT forEted F
97k Wadr B

* In India, the head of government of a state
is the governor. The Governor 1is
appointed by the President of India. The
Governor has the power to summon or
prorogue and dissolve the session of the
Legislative Assembly.
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Q.5 As per the Indian Constitution, a member of the Union Public Service Commission
holds office for a term of six years or until he attains the age of

WA HITeT o STTE, HE Tleh Hal SATFIT o1 §SET B N hl mﬁl%%@m
a@qﬁﬁﬁwaﬁmmw%

S.S.C. AT MTS (T-I) 11 I, 2021 (I11- TTeft)

(a) 65
(b) 62
(c) 68
(d) 60
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* WRA Higg™ % FATess 316(2)
AR, G5 Tleh T AN hl 4 BT

Y ST SFEY o fIT AT 65 9N ot A

21 dh 394 e 9T &1 2

* As per Article 316(2) of the Constitution
of India, a member of the Union Public
Service Commission holds office for a
term of six years or until he attains the
age of 65 years.
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Q.6 In which of the following year The Union Public Service Commission was formed?
[ETTRad |  Tohe I | §S Tieh YT STTRINT ohT 7T TohaT TRIT T 2

S.S.C. AT MTS (T-I) 11 TR, 2021 (11- ITeft)

(a) 26-11-1948
(c) 11-02-1945
(b) 23-12-1934
(d) 1-10-1926
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* LA H Ak YT TN shl TATYAT AT TR T THRINET o SR 9T, WX
TTE STehL shi STEIETAT H | ISR, 1926 ol G5l WA TLhR A& -IH, 1935
o T o STTEN 1 39, 1937 § THTell B o €rer & <Aleh el TR,

el Alsh HalT AT o9 T=IT| Taasidl T o o6 Ig§ T Aleh el ST
S TRIT 3T 26 S, 1950 a0l 39 ATk g1 Ye foram mm)

® The Public Service Commission in India was established on October
1, 1926, under the chairmanship of Sir Ras Barker, based on the
recommendation of the Lee Commission. As per the provisions of the
Government of India Act, 1935, with effect from 1st April, 1937, the
Public Service Commission became the Federal Public Service

Commission. After independence, it became the Union Public Service
Commission and was given constitutional status on January 26, 1950.
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History
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Q.7 Who among the following Indian revolutionaries thought of an armed rebellion
against the British with the help of Germany?

7 vy spifaerTiEt 8 9 STHT o 9230 | 37USTT & Rgas gvre foagie o1 fa=m forem
IERIRIV:

S.S.C. AMATET MTS (T-I) 14 TS, 2021 (I11- TTedt)

(a) Khudiram Bose / {%dhlill-l Y

(b) Ashfaqulla Khan / 3RT%Ieh 3¢l

(c) Bagha Jatin/ STH1 SIRE

(d) Prafulla Chaki / T%eet =ITeh!
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® T ShifdehRI SITET ST o STHAT oh "8 §
o AN (@ o\ N\ (@ (@
TSI o Rgars avre fagie s fomm fomam om
I IR 1T o Teh THE o, ST STl H Sl
GATIHT AT Teh WA Shifdeh Rl SIS ol

® Indian revolutionary Bagha Jatin thought of
an armed rebellion against the British with the
help of Germany. He was a leader of the
Yugantar Party, a main revolutionary
organization of freedom fighters in Bengal.
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Q.8 The Sepoy Mutiny 1n India started from
R H TaTe fosis st IeaATd el 9 g8 ot 2
S.S.C. HAAET Hideh T (T-1) 11 S, 2019 (1- UTedl)

() Rajkot / TSTehIC

(b) Champaran / =9I
(c) Bareilly / St

(d) Meerut | TS
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* YT f51E T IESA 10 T3, 1857 i 08 |
%éaﬁtswﬁwﬁr 20 S, 1858 o1 W@TIcTa H

g5l HUS ST aw i Ted BU HiEl T T
a&?ﬂaﬁsﬁr 1858ﬁ6ﬁwﬁrﬁms‘s‘|

® The Indian Rebellion began on 10 May 1857
in Meerut and ended on 20 June 1858 in
Gwalior. Rani Lakshmi Bai of Jhansi

attained Veergati 1n June, 1858 while
fighting with the British General Heroes.
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Q. 9 Mutiny of 1857 was described as the First Indian War of Independence by-
1857 o farsie ol TR o T Tc=rdT ST shl |31 fohem Ta &t
S.S.C. AT Hiaeh Tl (T-1) 9 Fdery, 2016 (111- 9Te)

(a) Bal Gangadhar Tilak / dTeT
TR fdeteh

(b) Subhash Chandra Bose / 9T
SECILY

(c) Bhagat Singh / ¥Td 188
(d) V. D. Savarkar / 3T €I Gl
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o Sft 2. TTaeRt I 7T Y&deh 'The Indian war
of Independence 1857 T 1857 % TI5IE ol
CERIE GRS CEIR P IR RS 2
T o Y| Ted=IdT GUTH <hl ST IS |

® VD Savarkar 1n his book '"The Indian war of
Independence 1857' termed the rebellion of

1857 as a planned freedom struggle. He
gave 1t the noun of India's first freedom
struggle.
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Q. 10 Who spearheaded the Revolt of 1857 rebellion 1in Bihar?
1857 ST Shild o QRH, ToRR W oIRTE ohT Iqcd Tohe TohaT T2
S.S.C. AT MTS (T-I) 26 TR, 2021 (11- ITeit)

(a) Kunwar Singh/fl;%ﬂ 5H
(b) Bakht Khan / sited €4
(c) Tatya Tope / AT 2
(d) Nana Sahib/AHT A1
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* 1857 3kl hild oh QR 'R H oI =T Adca
$or g 9 fRar om I|H IO e
SR 3 THohe. SFUSIT ! ST T8 | G

O

TRl 36t Tg o SR e g sl T8 o

=1 7T 37K 26 3T, 1858 T 3h! T 2 TTs

® During the Revolt of 1857, the rebellion 1n
Bihar was led by Kunwar Singh. He badly
defeated the British near his hometown
Jagdishpur. During this battle, Kunwar
Singh was badly injured and died on April
26, 1858.
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Q. 11 Who among the following was a leader who led a revolt against the British rule
from North East India?
T3F | 9 Toher AT < IT-ge IR ¥ Tsifeet Sme o RaeTTh (91518 1 deat fohat o
S.S.C. AT CHSL (T-I) 13 313, 2021 (11- 9Teih)

(a) Matangini Hazra/ ATGRHT TS
(b) Rani Gaidinliw/ THT Tgfe
(c) Durgawati Devi/ giﬁa?ﬁé?:ﬁ

(d) Pritilata Waddedar/ Jifceran I K
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* Gl ST o SN AU shi SSTTaAn o
ik WA feETs| J-T WX AR hl Hdca
T SN s Afger Msieey 7 foraml 39
TSI T 3Tie Tl shal ST &

®* The tribes of Manipur also showed active
participation during civil disobedience. Here
the movement was led by Gaidinliu, a
woman from the Naga tribe. This 1s called
'Jiya Tarang Movement'.
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Q. 12 In which of the following years did the Santhal Revolt take place?
Hore fosig fefafad # & ford o gafT o
S.S.C. 3T CHSL (T-1) 09 3T, 2021 (1-9Tedl)

(a) 1855-56
(b) 1825-26
(c) 1848-49
(d) 1874-75
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* 1855-56 3. H €U fomig g, S T TS
fearet fagie om fomem ESEQ AT
AT IR fofesr smaT & qvf [h STt

N

TS e ol fuetd) 21 39 fagie & Jdr fag,
g, Fie Us T ATH 4 WS |

*In 1855-56 AD, the Santhal rebellion took
place, which was a famous tribal rebellion.

In which sentiments like basic tribal impulse
and complete disdain of British rule are seen.
The leaders of this rebellion were 4 brothers

named Siddha, Kanhu, Chand and Bhairav.
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Geography
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Q.13 Where can we find Jarawa and Onge tribes in India?

YT § BH ST 3 AT ST shal fiet gend] 27
S.S.C. 3Hered CHSL (T-I) 11 3T, 2021 (I 9Tedl)

(a) Arunachal Pradesh/3Te0T=IeT T&3T

(b) Andaman and Nicobar
Islands/37EHT T fHehIeR gTo@mg

(c) Chhattisgarh/ &39S
(d) Daman and Diu/cH- AR T
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* YRd § SIRAT 3R 3T SHeaal 3feA Td
[HehISI SIHHE H UTg STt & | STRET R1ehr i
3R TRl ®Y § & et WHEERT SIS Bl
AT SIS fAfeet 37eA™ g9 1 Hamerd 2

® In India, the Jarawa and Onge tribes are found
in the Andaman and Nicobar Islands. The
Jarawa are a nomadic tribe that hunted and
lived together. The Onge tribe lives in Little
Andaman Island.
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Q.14 Madheshi tribe 1s related to India and its neighboring country?

TEIft ST R qeIT 3ok TSIET <37 ¥ Haiferd 82
S.S.C. AT MTS (T-I) 17 f{es), 2017 (111 - 9TedT)

(a) Nepal/ ERIS]
(b) Sri Lanka/siicicht

(¢) Bangladesh/STetres]

(d) Pakistan/ UTieh¥T
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* TS SHSd YA doT 39k USIEl 277 49T ﬁ
TS 21 99T o Sf&quft W o ATt &3 ohl HelT
Shed & 3 I Tame T STt Juredt ST okl qesl
Fed 2l gdﬁﬁﬁa%”%&ﬁ?ﬂﬁﬁmﬁ%w&ﬁ?
ST TR F AR S B1 3 Faet 7€ 2 B aoEh
Tt 8, ST HHT o 39 IR Ed B

®* Madheshi tribe 1s related to India and 1ts
neighboring country Nepal. The plain area of the
southern part of Nepal 1s called Madhesh and the
Nepal1 people living here are called Madheshi.
The culture and customs of these people are
similar to those of Bihar and Uttar Pradesh. The
only difference 1s that the Madheshis are
Nepalese, who live across the border.
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Q.15 Which 1s the only perennial river of peninsular India?
TTIEIT HR shl TshHTS SEHTET AT shiv ©T 22

S.SC. HAATET HIdsh T (T-1) 9 s’ 2016 (11-9T<AT)

(a) Godavari/ Meradl
) Kaveri/&Ta{
(c) Krishna/sh™m
(d) Bhima / |1




(e

* THIEHI Y <hl ThHTS SREHTET AT shiak]

D
70_1'”

FAICh oh H Sl H SRR sl qeriedl § fHeherdl %I
AT ST gfS & “gfaror it 7 1adt sl el ST 2
TSRS STRNT T “Sf&70T <hY T Sh1eRY okl HHT T =
Ao TTHIESAET o STEW, “SH&T0T T STeaTeieA! shl ST
TMeTerl o feTT g1 €

® Kaveri 1s the only perennial river in peninsular India.

This river originates from the Brahmagiri hills in the
Kurg district of Karnataka. In terms of popularity,
Kaveri 1s called 'Ganga of the South'. Cauvery has been
considered by most of the commission as 'Ganga of the
South'. But according to NCERT, the term 'Dakshin
Ganga' 1s used for Godavari.
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Q.16 Indravati, Pranahita and Sabari are the tributaries of which of the following?

ggTadt, TTuTtedT 3R el fefefad 1 9 foraehl Su-afeai 22

S.S.C. AT LAUTH, 14 fadsw 2017

(a) Ganga/TTT

©)) Godavari/Meradl
© Cauvery/%a'ﬁ
(d) Krishna/®omm
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o ZETEC, TTOTRRAT TR He’l ST, METe’l A&l ohl
e AT 3 SHh 3T Ug¥eh Afear § 9w,
WY, ST, qOr, Se, 9T, ET, SR S1fe &)
Wﬁmﬁawaﬁmaﬁﬁ%

® The Indravati, Pranahita and Sabari rivers are
tributaries of the Godavari River. Its other
tributaries are Varsha, Maner, Manjira, Poorna,
Pravara, Mula, Dudhna, Denganga etc. The

Godavari River 1is the longest river in
peninsular India.



GODAVARI BASIN

MADHYA PRADESH y ainganga

Kanhan
CHHATTISGARH

- _"«’_
.
L
z - &
e 7
yper F

r Pex

' Indr

avati™

Sangam @ “":‘ jaran
{(Murredu)s 8 TS "i l;ﬁlmundﬂ

. oiovai (GR Bridge)
) Polavaram

Sir Aurther

Dawalaiswaram —— Barrage

ANDHRA PRADESH

“BAY OF BENGAL



SSC CHSL 2022-23

Q.17 Which of the following is the highest mountain peak in Maharashtra?
TEITSE <hl Tel8 el eld =il fFefetfad o shia-Ht 82

S.S.C. AT HTdeh TR (T-1) 12 5, 2019 (1-9edT)

(a) Anjaneri/ SR

(b) Kalsubai Shikhar / HeTess
RTIET

(c) Taramati / R
(d) Salher / FeTRT
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* HENSE s He® Sl qold A heAges
e (F=TE-1646 Hien) Bl I8 FIrew ufsdt
o1 1 feord =

® The highest mountain peak of
Maharashtra 1s Kalsubai Peak (height-
1646 m). This peak 1s located in the
Western Ghats.
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Q.18 In which of the following states 1s the Shatrunjay hill located?

1 1 9 fope Tsar 1 wrfsT veTel feera @ 2

S.S.C. 3AMerEd CHSL (T-1) 10 3TT&d, 2021 (111- UTedl)

(a) Andhra Pradesh / 31T¢ T
(b) Madhya Pradesh/ e JeTT
(c) Gujarat /TSI

(d) Karnataka / FAleh
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* YESE URTEl TS ST H fd 71 I8
IETEl TR STt § T Ta =T ) | g

2 | 99 YSTE! U ST oh J&ATd Hil feord
2l

® Shatrunjay hill 1s located in the state of

Guyarat. This hill 1s located in Palitana
Nagar in Bhavnagar district. Famous
temples of Jains are situated on this

hall.
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SCIENCE
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Q.19 Why does ice covered in sawdust not melt quickly?
SIS § @ohl 3 ot SToal 8 41 T8l {Uererd! ?

S.S.C. AT HTaeh Tl (T-1) 28 3T, 2016 (I11- UTe!)

(a) Sawdust does not allow the air to
touch the ice/ SIET &I o 5% ek g
SIERGI

(b) The water 1s absorbed by sawdust /
SET 9T ol |G T

(c) Sawdust is a bad conductor of heat /
SIGT ST 3T FHaTA

(d) Sawdust is a good conductor of heat
/ STET SSHT 3T GTeTeh o
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* T W T TE I Siedl Al e, iR

AhS! ST shl FATATh o HEAT hl FHeATeToh
2 % HIUT kel hig o1&l HSHT U0l gl
Fdt, e % kT AOHE T gedr 91 98

- efiY fUererdt R

® Snow covered with sawdust does not melt

quickly because wood 1s a bad conductor of
heat. Being a bad conductor of heat, wood
does not absorb any external heat, due to
which the temperature of 1ce does not
decrease and it melts slowly.
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Q.20 At hill stations, the boiling point of water will be :

AT &5 | STl ohl FALTh T BT 2
S.S.C. AMATET Hiaeh Wl (T-1) 1 fdsiE, 2016 (111- aTe)

(a) Same as at sea level / J&l S HH dcd

O BT 2

(b) Less than that at sea level ISKEL
TS T I BT 7, SHE A

(c) More than that at sea level / ELEL
Tz T T BIAT &, 38Y SATEh

(d) Equal to the melting point of ice /
S ok TTQIieh oh SIeR




S o N\ N N
OIIQ\‘ID‘-ISQ’WJ alsl dcdl Slidl %| Ollg °n dcd Ggslld en

AT ST hT FUHih =edl SIdT 8| 37

el &A1 H STt ShT S ish g et shi STUET
T B

®* Atmospheric  pressure  decreases  In

proportion to the increase in altitude from the
surface of the earth. The boiling point of
water decreases with decreasing air pressure.
Therefore, the boiling point of water 1n
mountainous regions will be lower than that
at sea level.



SSC CHSL 2022-23

Q.21 What 1s the name of the device used to convert alternating current into direct
current?
SeATerdt ST (AC) %l T48 €T (DC) W Siaet h ToTT Toher Fieh T SFTT TohAT ST &2
S.S.C. AT HTaeh T (T-1) 28 A&, 2016 (I11- UTedl)

(a) Ammeter / UHTex

(b) Galvanometer / Mo THTeT

(¢) Rectifier / TIHRR

(d) Transformer/?{i'@l?lﬁ'(
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* GAHRT (Rectifier) Th 9Td Ik (Electric
Device)g ST JeaTadi &RT AT ST Thid
(AC) &I I8 9™ a1 S i (DC) |
gitafdd st 2|

® A rectifier 1s an electrical device that

converts alternating current or alternating
current (AC) into direct current or direct
current (DC).
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Q.22 Transformer 1s a device to convert —
IEHTHT ford TRl ot shi Ffeh &
S.S.C. AT H1aeh Tl (T-I) 3 fdsr, 2016 (11 - uTe)

(a) D.C. to A.C./ST . s e °

(b) Low voltage D.C. into high voltage D.C. /
Y dlees] SF.HT, ol 3od dlcest SLEl. |

(c) Low voltage A. C. into high voltage A .C./
S dleesT T, G, ohl 3= dicest THT, 0

(d) Mechanical energy into Electrical energy/
e c_ N O N
Jifeh St ohl foreld Ssil §
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* g% IHT T IUANT JATad! arT (THY,) foava
%l SodrElt o SR oh@l % foTe a2
CE TR T Jgd Hiehe BIAT & S ﬁg o
(E1.9n) & >|ce4|o|<1| R AT AT ST Oh{d
(T.EY.) T IRaETdd hidl gl SIEHT AiTAeh el

! forgrd w1l § Seedr o

® Transformers are used to step up and step
down the alternating current (AC)
potential. An inverter 1s an electrical
circuit that converts direct current (DC) to
alternating  current (AC). Dynamo
converts mechanical energy into electrical
energy.
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Q.23 What 1s the viscosity of an 1deal fluid?
Tt 3TTest oo AT SIEdT fehd-t BIdT 8 2
S.S.C. 3THeeT CHSL (T-1) 17 SHaRT, 2017 (I-9Tedh)

(a) Equal to its mass / 39eh! SeTHM o T

(b) Equal to its weight / 39 T & dcd
(¢) Zero /[

(d) One / Tk
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Q.24 The frequency of a wave is the reciprocal of its
foreft T T ST 36k 1 FshH Bl ol

(a) Speed/ i
(b) Wavelength/diTees)

(¢) Time period/3 EREAN

(d) Amplitude / AT™EIH
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* T L ATl TG Tk Hohs § IS Sl
Fdl ©, IS ITh] 31|oy(§| (Frequency) hgaildl
gl 39 n § YSRIA Rd 8 R I SI A
TS AT Uil Hehe BIaT 2|

® The number of oscillations that an
oscillating object makes 1n one second 1is
called 1ts frequency. It 1s denoted by n. The
SI unit of frequency is hertz or per second.
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Q.25 Kinetic energy depends on

TTfersT Selt foh O T SRttt B2
S.S.C. AMATET H1aeh i (T-1) 2 frdsix, 2016 ( I11- grefh)

(a) The velocity or speed of the moving

body/ TaRiter/aet3iiet fUg o AT I

(b) The mass of the moving body /
Tiasiie U & YR W

(¢) The pressure of the moving body /
Tiaeiie fUs o g |

(d) Both mass and velocity of the
moving body/Taeiel fig o o qT
I ST T
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* T7{crst 91T (kinetic energy) k= 1/2 mv2

o Ty 2 for Tfast et faefier fie & S1id
(v) T9T 38 S m SHT T 99T ot =
Wﬁ'm’%W'MaSS'WWWE;’@T%,
Sialfeh Mass o1 T&d) SITeRtor § 379 SoqH Bidl
2 3Ad: 3 99§ YR 9 d1cod 590 9 2|

* It is clear that the kinetic energy depends on
both the velocity (v) of the moving body and
its mass m. The word 'Mass' is used for
'weight' in English, while Mass means mass
in Hind1 grammar. So 1n this question, mass

refers to mass.
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Q.26 The main protein found in milk 1s

81 U U S 1T He T hIH-|1 R 2
S.S.C. AMATET Hiaeh i (T-1) 4 FordsiE, 2016 (111 - grefh)

S

(@) Albumin/Ucs[[HH

o

(b) Globulin / A&

O

(¢) Globin /TfeH
(d) Casein/ Casic]
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* 3 H HE THEk W Iufterd Ear 8l gEl
T & HHT] a;%wfbc; {7 T a7 2 Trrzréaa;%l
oh Tooh-Ulel U7 ahT 0T KU ohl Sufkerfa 2
FUCH BIESEhTS BIAT &l $Heh ATdIh siiel-
AN N o\ (o
AFIATfT N ICHT AT HT  TH

T o I ST 21

®* A protein called casein 1s present in milk.

Milk 1s white in color due to this protein.
The light-yellow color of cow's milk 1s due
to the presence of carotene. Carotene is a
hydrocarbon. Apart from this, proteins
called beta-lactoglobulin and alpha-
lactalbumin are also found.



SSC CHSL 2022-23

Q.27 Name the catalyst used to convert milk into curd.
81 ol TE1 H Seet H SUFNT fohT ST SfTet IciTeh shT A1 S50
S.S.C. M CHSL (T-1) 8 ST, 2017 (I-9Ted!)

(a) Pepsin/ Ufta
(b) Lactase/cidesT
© Invertage/s:laiﬁ

(d) Diastage/SCS
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* U Y Tl T H A (Lactase) AT I
ST STRNT FerarT STl 2) STehicieh &9 § 8T ohl T&

T deoid § AFdHeTd 9185 c||o||U\|33q?ﬂTﬁ%|

* A catalyst called lactase 1s used to make curd
from milk. Lactobacillus bacteria are useful
in converting milk into curd naturally.



